Triangle Inequalities August 30, 2018

arm-
C is the centroid of triangle RST. R
SE=12,DC=2,RC=10
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6. What does point W represent?
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7. What does point L represent?
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Relationship b/t side lengths and angle
measurements:

In a triangle, the largest angle is opposite the
longest side, and the smallest angle is
opposite the shortest side.

In AABC, mZA>m /ZB>m/C

List the sgzles from smallest to largest
4 "% AC, BC

S, Y 5/ AB, AC,
A /os?® ) Ad < AC < BC
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Triangle Inequality Theorem
The sum of the measures of any 2 sides of a triangle
is always GREATER THAN the third

Can the following sets of segment lengths represent
the sides of a triangle?

a) 5,5,5 b) 10, 16, 4
\es, 5+5=I0 No, Y +10 <l
c) 30, 100, 90 - d) 11,5, 16 "
190 7 =1
\IZSI \gg\.qqo>30 )\bl >

Find the possible lengths of the third side of the
triangle

a) 6,10,?7 YHY<£L<Xx Zlb

b) 12,9,?7 3L X<Z|
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Find the restrictions on x

A Given: mZB=(6x—45)°
mZC =(15+x)°
AC > AB
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20 <180
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Hinge Theorem
If 2 sides of one triangle are congruent to 2 sides of

another triangle, and the included angle of one is
N

larger than the included angle of the other, then

the third side of the first is larger

e

ad >XY <4
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Z
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XY > AC
0 Given: le=140°
m/2=142°
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oQ_<  pPQ



	Page 1
	Page 2
	Page 3
	Page 4

